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IR —(1) Ul & S & srerar ot W # ford S wahd 2 1 @if, Wt SR
Sl U B W H ford |
(2) 9RT 1 | BIS QT YL, IR 2 F HIs & UAT AR 96T 3 4 fhel b U
BT IR fora T & |
(3) &t gl & forg §914 3 2 |
(4) T ue & A 91Tl & SR gdas fora T =nfed | fnddt qav o &1 SR
dre # 21 forgn =t |
(5) arfet 3R & M 3fd U=l & /el & W & IR 3/ ¢ |
(6) UR®H U & IR BT YRH T Ud R PN |
(7) SR BT JATHT G Bl Alchebel], TN R FRIDBI WR AT SR |
(
(

8) ey forarae & oI 3id &9 By SR |
9) AH-UIIdEd MUk (Calculator) IT ST eded BT SUAIT fhdT ST FhdT B

)
)
)
)
)
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(10) eI d 81 1 IMfaRad sef (Data) a1 Tad 2 | oI, ITBT W Sl

forar e =ty |
wmT 1 _
3i®
1. () PRNYT WR YT Scf UR 3T DI I XS B 3BT o B | 8
(@) 3¢ & IR Y FHT0T HRA B Ugall BT FfaeR Joi B | 8
([ ¢ 3 9< Pl ’ R BT ? SHBT Hal SUINT BT & ? 4

2. (&) 9RaTE® w¥a (Load Bearing Structure) 3iiR e @@ (Framed Structure) 8
76 BIS (Advantages) 3R @@ (Disadvantages) @t @@i & |

(@) SR () 7 MR FRE1 IR & B w1 aRomd gl g ? 8
(1) 9RA F e T (Earthquake Zoning) @t = =i & | 4
[oeear <Ray
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3. FfFRRE vl wR guiers fewoft faRed (—
(Caisson)
gl (Hoe)
Jc$ ursd (Battered Pile)
gt TmaTel 31 @1 e (Balancing of Earth Moving Machinery).

@) Bur
)
kil

q

(
(
()
)
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4. (@) fasft e TG a7 (Proposed Building) T UTdberd (Estimate) TR &_= &
o 19 & s1er (Data) &t mazadar g ?

(@) fafaer (Tender) & A1 Se-dTd BITSTd &t BR¥ (List) S9EY | UAd SIS BT
e IR STeRd I wu § 931 ST |

([TM) ¢ gg b B GR 2 (Time is essence of contract) 537 fag W & o | (Comment)

5. (®) TSt ammer™ (Bar Chart) &1 foafor Sevm § SUAT &1 Serevvrifed faavor o |

(@) et gmed (Project) & Fcad gaamxor (Network Analysis) & f@for &1 &1
Briferar 9 (Efficient Execution) & glar & ?

(M) fHt udheg &1 sTer (Data) i fear & :—

ofaefed FCRNESIE ey ()
(Preceding Activity)

A 9
B A 7
C A 11
D B 8
E B 7
F B 8
G C 6
H C 9
J D, E 10
K F 5
L H 7
M G, J, K 6
N G, J, K 12

%) dcad srsum™ (Network Diagram) d9T8Y |

@) See 3R o §9g (Early and late times) &% ufdefed & ) Mo |
Jead SSUM WR fbfeda ury (Critical Path) fewrsa |

UHed qUi R BT B W HH HIode Feprierd |

%) spdicy (Breakwater) @7 81dT € ? SHGI SUANT Hal eidl & ? SHdI BRI T & 7
) a1 (Well) & 2gud & (Tilt) F&1 &R & I o9 F a¥id 8 72

6.

LE)

) Fedd SRUM & f-preE (De-compression) TR fewol SR |

gt & 9 @1 (Earthen Dam) fefiwa ®wikT e (Typical cross-section) ferf3a
PINTY 3R STW UHT & AU (Seepage) A= & U BT JuiF HIRTH |
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3P
T 3
7. (&) Uddl UH. Q9. &9 (Slender M. S. Column), fore aHi R &S & (Both ends 8

hinged), W Y9R (Load) @1 3ifMerR g3 (Eulers Formula) fevrse (Derive)
HIY | RRT & o1 USRI & fo 39 g3 A B uRac giar g ?

(@) T & Had (Members of a truss) # we ugd! & (Method of sections) BRI~ 8
(Forces) foaTe™ @ Tgcdt &1 IuiF &N | JATITT ISR I W< BN |

(1) fibeie Jes (Fillet Weld) @am 81T & ? 36T STANT dal aidl & ? Ud fholc dos @1 4
T arhd (Strength) gxft & 2

8. (&) 4 guit & Rigia (Three moment theorem) @t TaBRM feR$e ax (Derive the 8

expression) |

(@) TR Th 19 (beam) B ST T 3R At TR A 9 menRd g (simply supported at
A and C) 3R omgR & R foRar © (continuous over support B)|
Tt = 10 #1., d=ft = 15 m. | Tt WF W= 100 kN @1 77 fig W Hfgd ¥R 2
(concentrated load of 100 kN at mid point of AB)| fitfl W= o= &t &
5 m. g1t 300 kN-m. &t gorf g (300 kN-m. moment of acting on span
BC of 5 m. from C)| T §9 G9< |A¥<e 3% g=1erar drelm & (uniform of
moment of inertia) |

(31) FUR Frarel I O goI RIgT &1 ST xR A1 [H4! o ISR 4§ Juc 8
A¥eH (support moments) frraTet |

(@) d&f$T Ae su™ e (Draw Bending Moment Diagram) | 2
(@) freR »rt ssum™ afyd a (Draw Shear Force Diagram) | 2
[Tefedr TfRau
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1.

3.

4.

Instructions.—(1)

(2)

(3
(4)

(5)

(6)
(7)

(8
9)

(10)

4

Answers must be written in English or Hindi. However all
the answers should be in one language only.

Answer any two questions from Section I, any two questions
from Section II and any one question from Section III.

All questions carry equal marks.

Parts of the same question, if any, must be answered together
without answers to other questions intervening.

Figures to the right indicate full marks of the question/part
of the question.

Each question must be started on fresh page.

Answers will be evaluated on the basis of logic, clarity and
criticality in exposition.

Marks will be deducted for illegible handwriting.

Use of non-programmable electronic calculator/log table is
permitted.

Assume any additional data, if deemed necessary and state
the assumptions clearly.

SECTION I

(a) Describe the various tests on bricks you will carry out on site.

(b) Describe the method of construction of a brick wall in details.

(¢) What is a brick bat coba ? Where is it used ?

(a) Discuss the advantages and disadvantages of load bearing structures

and framed structures.

(b) What is the effect of an earthquake on the structures mentioned

in (a) above ?

(¢) Discuss the earthquake zoning in India.

Write descriptive notes on the following :—

(a) Caisson

(b) Hoe

(¢) Battered Pile

(d) Balancing of earth moving machinery.

SECTION II

(a) What data is necessary for preparing an estimate for a proposed building ?

(b) Prepare a list of documents that forms accompaniment to a tender.

Describe briefly the importance and necessity of each document.

(¢) Comment on the statement “ Time is the essence of the contract ”.
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5.

6.

Marks

(a) Explain with an example from the construction industry the use of 4

a bar chart.

(b) How does the network analysis of a project help in efficient execution of 4

the construction work ?

(¢) The following data pertains to a certain project :—

Activity Preceding activity |Duration (days)
A 9
B A 7
C A 11
D B 8
E B 7
F B 8
G C 6
H C 9
J D, E 10
K F 5
L H
M G, J, K
N G, J, K 12

(a) Draw the network diagram

(b) Find the early and late times for each activity.

(¢) Show the critical path on the network diagram.

(d) Find the minimum project completion time.

(a) What is a breakwater ? Where is it used ? What is its function ?

(b) What are the methods of correcting a tilt in a well ?

(¢) Comment on decompression of a network diagram.

(d) Draw a typical cross section of an earthen dam and describe methods to  §

prevent seepage through it.

SECTION III

(a) Drive the Euler’s formula for load on a slender m.s. column with both 8

ends hinged. How does the formula vary for other end conditions ?

(b) Describe the method of sections for finding forces in the members of a 8

truss. Explain with the help of a suitable example.

(¢) What is a fillet weld ? Where is it used ? What is the strength of a fillet 4

weld ?
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Marks
8. (a) Derive the expression for three moment theorem. 8
(b) ABC is a beam simply supported at A and C and is continuous over the
support B. AB = 10m. BC = 15m. Span AB carries a concentrated load
of 100 kN at the centre while the span BC carries a clockwise moment

of 300 kN-m at a point 5 m from C. The beam ABC has uniform
moment of inertia.

(a) Using the three moment theorem derived above or otherwise find 8
the support moments.

(b) Draw the bending moment diagram. 2

(¢) Draw the shear force diagram. 2
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